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Multiple Choice
Identify the choice that best completes the statement or answers the question.

1. Find a square root of 64. W—(;‘{ = ¥
a 32 (§. 8) c.

2. Find 148, = 12> 12
G 12 b. 72 c. 36 4 48

3. Find the squareof«fgg—. MX Vya = 49
a 196 b 7 c. 2401

4. The area of a square is 24 m>. Find its side length. Side ten 21"/\ = \JARem < \)3‘{
~l24 m b. f m C. ﬁ;'grjm d 6m
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16 g 32

. Which whole number is «fg closer to? /‘T s \ré‘ W&
C.

g 3 e B4

6. Simplify ~f 15 + /11 to the nearest whole number. (Hint: Calculate each square root individuallly, and then,
" add those numbers) Vie + T = U+ 3= j'

c. S s A3

Jul

5 7 close,

b. 8
7. Esti 48 to 1 decimal pl o0 182
% stimate to €cimal piace. . /
a. 49 b 155 = mgk .l e e Yo7

8. The area of square P is 52 cm’. b %
Square Q has an area equal to one quarter the area of square P. )
Find the approximate side length of square Q. A”Qe@ (Q"’ ) 5. 2 ~ I3

Give your answer to 1 decimal place. /&)b’f’
b. 5.1 cm e 135m Lle_ d. 1.8cm
X3
e length <
S0 5 5"‘\&/ i3
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Short Answer N

- y4
9. Which 2 consecutive square numbers is 126 between? ;Q.l W [ S
(v s = 147 = 19
10. Find the area of a square with side length 14 units. Y ARN = l ‘4
T

. |
11. A square book cover has area 25 square units. g 5
Find the perimeter of the book cover. ’4’% = { 5 k e @ s ?5\
Ao (g OGS . s
12. Is 5 greater than, less than, or equal to ~/32? -
Sthee, \/%:5,5‘: \esr et 32

Problem

13. The numbers 2, 3, 5, 7, 11, and 13 are written on separate cards.
Which pairs of numbers give a sum that is a perfect square?



Find all possible solutions. Se g » 247« / S+ 4 3 +'3

14. a) On grid paper, draw a square with area 32 square units.
b) Explain how you know the square has this area.
¢) Write the side length s of the square.

15. Is 5.66 a good estimate of f 322
Justify your answer.
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14. ANS:
a)

b) Divide the square into 4 congruent triangles. The area of each triangle is 8 square units. So, the area of the
‘square is 32 square units.

c) s= ~J 32 units

& ’ fv\) V/,EJ ~ ol 1S befuieen 25 and_ 30
' N o Thys means Fhat- Nz 1S befeen 5 and b
\/"‘ \)/ o Since, 82 € Closer < 36, we cam
s b e
5 ! ¢ 5.6 < 5. 66 = 52.0‘§/ ?wd eLlimate




